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07 Grammar L5 Answers

Lesson Conversation (Kanji Edition)

Matt: SHERIT BFHS]Z BN TIZEAD,

Yur WW\WTFA, TARIZY)—=L4E BXNEVWTT,

Matt: Fat, YARTARZY—=LD HFETTD,

Yu:  YATY NFFAR TET

Matt: YA ZTY NFFTTh,

Yur 3w, N=F% Faal—bLY BLLWTT,

Matt: ZMTIX, VATY NFF0 TARZ)—=2% HBXELIID,
Yu AL E RBTLLI,

Matt: J® RETH,

Yo ZA BE UATY SFFO TARZ)—LH BETEAL, Ml
REFE RNTOET,

The % particle

M) bzl »2WET BARE (H) #HLEWTT,
Watashi wa kaigi de Nihongo (ga) hanashitai desu.
I want to speak Japanese in the meeting.

NWn2) bl »WET BHAE(%Z) =HLIT

Watashi wa kaigi de nihongo(o) hanashimasu.
I speak Japanese in meetings.

(1] sl BTLO) BREVTT,
Ashita wa osushi (ga) tabetai desu.
(I) want to eat sushi tomorrow.

(2] LA (%) vy,

Shashin (o) torimasu.
(D) take pictures.

WO F



[4]

I\L\O) %ﬁ{]—(%) ctzjitf:o
Tomu no namae (o) yobimashita.
(I) called Tom’s name.

FLOY AT (H) BWWTT,
Atarashii kamera (ga) kaitai desu.
(I) want to buy a new camera.

The &, ®, and D particles

NW) BRXA /NAa3A / kFEFT / X—=T4— /12 / ¥/ ¥

Tanaka-san / Kawaguchi-san / kimasu / patii / ni / ga / to

— HPIALY NOIAN RN—=T74—IT RIT,
Tanaka-san to Kawaguchi-san ga patii ni kimasu.
Ms. Tanaka and Mr. Kawaguchi are coming to the party.

n/X/ FTETYT / vwa /Al -

ga / ya / suki desu / inu / neko

WX Ryt TXTH,

Inu ya neko ga suki desu.
(D) like dogs, cats as well as other pets.

I—bt—/ 35T/ X /Jizgn /[ B3N/ 3D —
kohii / kitte / to / ni-mai / kudasai / futatsu

I—k— 3/=D¥ 55T 12FWn (FFXn, [/

Kohii futatsu to kitte ni-mai kudasai.
Two coffees and two stamps, please.

X5T I2Fnw  a—k— 37D (7FEXW,

Kitte ni-mai to kohii futatsu kudasai.
Two stamps and two coffees, please.

»/ & /R /) BVET /v~

ka / o / neko / kaimasu / inu

RNIH» Wwar BwEd, / vwanr Ix BWIT,

Neko ka inu o kaimasu. / Inu ka neko o kaimasu.

(I) am going to buy a cat or a dog. / (I) am going to buy a dog or a cat.

¥/ BRI/ Lt/ 2/ 722 —

to / Nishimura-san / shimashita / o / tenisu

BHRIAY T=ZA% LIl

Nishimura-san to tenisu o shimashita.
(D) played tennis with Ms. Nishimura.
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5

AL 8 / &£458B /i /3Ly / ® —
Getsuyobi / kin’yobi / ni / hashirimasu / ya

ALY 4t58I1c BFLuEd, /

Getsuyobi ya kin'yobi ni hashirimasu.
(D) run on Mondays, Fridays, as well as other days.

£JH® AJLHHIC ELVET,

Kin’yobi ya getsuyobi ni hashirimasu.
() run on Fridays, Mondays, as well as other days.

The & particle

nW) Pl / TY¥ /8 /#HF/ D/ A

yasashii / desu / mo / Kobe / no / hito

— RO ABRREDHIT BLWLWTY, ZFLT #HEFDO AL

PILVTT,

Kobe no tabemono wa oishii desu. Kobe no hito mo yasashii desu.
Kobe food is delicious. Also, people in Kobe are nice.

/i) FZ2/ M/ 3/ R/ HUVET

mo / ni / soko / shinbun / wa / hon / mo / arimasu

— ZliZld AP FHE HYIET,

Soko ni wa hon mo shinbun mo arimasu.
There are books as well as newspapers there.

TlITid FHE AL HUET

Soko ni wa shinbun mo hon mo arimasu.
There are newspapers as well as books there.

Xol/®/ HUVET/ 28D

zasshi / mo / arimasu / ni-satsu

— N 2> HUIT. Told 2O HUIT.

Shinbun ga ni-satsu arimasu. Zasshi mo ni-satsu arimasu.
There are two newspapers. There are two magazines as well.

T/BFL/BNFT /W2 / 8/ T

te / osushi / tabemasu / wa / mo / de

- BFLIF TTH KNI,

Osushi wa te de mo tabemasu.
(D) eat sushi even with my hands.

t/ RALHP>8B/ 6/ K&/ 5B/ RIH8B / TY
mo / getsuyobi / mo / yasumi / konshu / kayobi / desu
— 5# AJLIBH KIIHIHE HKRAELTT,

Konshii getsuyobi mo kayobi mo yasumi desu.
This week, both Monday and Tuesday are (days) off.




(5] wix /& /®EHEXA / BHRHIAL/ B/ T

isha / mo / Tanaka-san / Nishimura-san / mo / desu

- @\RIAE BHPIAE WILPTT,
Nishimura-san mo Tanaka-san mo isha desu.
Mr. Nishimura and Ms. Tanaka are doctors.

(6] 12/ b/ KESN/ BB/ B/ 50/ %
ni / watashi / kudasai / onaji / mo / mono / o
— HELIZEHE BRLEDZ  (ZXW,

Watashi ni mo onaji mono o kudasai.
The same thing for me too, please.

FL&5H And TEAD

N ATLEREDE BXENWTT, ]
“Kudamono o tabetai desu.”
“(I) want to eat fruit.”

BIbLlE BXNEWTT, BEXFLILIID.]
“"Watashi mo tabetai desu. Tabemasho ka.”
“(I) do, too. Let’s go eat.”

NW2) ATDOED  KIIBIX AF—IT [TXFHAD, ]
“Tsugi no kayobi wa sukii ni ikimasen ka.”
“Do (you) want to go skiing next Tuesday?”

B TvvwT¥4a, |

“li desu ne.”
“Sounds great.”

(1] A TaLE YIT BUITH
“Ashita doko de aimasu ka.”
“Where do (you) want to meet tomorrow?”

B T¥LINAT HVWFELIID,]
“Toshokan de aimasho ka.”
“Let’s meet at the library.”

(2] A TIEATIEAE fAh BRXIEAL
“Bangohan o nani ka tabemasen ka.”
“Won'’t (you) eat something for dinner?”

B Tteydh, B3LE ABRXFLIIN,

“Ja, osushi o tabemasho ka.”
“Well, let’s eat sushi.”

(3] A IBohFlr, LITLIE FEUNATLER, |
“Otsukaremashita. Shigoto wa taihen deshita ne.”
“(I) am tired. Work was tough, wasn’t it?”
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B RAEL H51-5-TH, E—nz KAEILLIIN ]

“Tenki mo warukatta desu. Biiru 0 nomimasho6 ka.”
“The weather is bad, too. Let’s go have a beer.”

A TRORLIT XY 1IT3FHAD.
“Natsu yasumi wa doko ka ikimasen ka.”
“Won't (you) go somewhere for summer holiday?”
B Twhz, YZits 1T2FHA.]

“lie, doko ni mo ikimasen.”
“No, (I) am not going anywhere.”

A=ILD EEBIZ BUFEAN,
Méru no tomodachi ni narimasen ka.
Would (you) be my penpal?

1<

IXAZE RN ATEEVWTT,
Udon o tabe ni ikitai desu.
(I) want to go and eat udon.

WWRKATT, TIZAN  TZAIRIT ITSERAD
li tenki desu. Koen e sanpo ni ikimasen ka.
Nice weather. Why don’t (we) go stroll around the park?

Brruw, #LWLTALY»E EwIZ T3l
Ototoi, atarashii jidensha o kai ni ikimashita.
The day before yesterday, (I) went and bought a new bike.

HLEET TN BIXID IT3F T
Ashita wa puru e oyogi ni ikimasu.
Tomorrow, (I) am going to go swim in the pool.

LwIrEold, BRET ¥EELHIT HVIT TT3FET,
Sha-matsu wa, eki made tomodachi ni ai ni ikimasu.
On the weekend, (I) am going to the station to meet my friend.

kA, NUN YxIHIT ATEET,
Raigetsu, pari e ryoko ni ikimasu.
Next month, (I) am taking a trip to Paris.

¥yl FeN HEFIT TEFLA
Kodomo wa soto e asobi ni ikimashita.
The kids went outside to play.
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JLPT-Style Questions

II] Evx ARXFLA, ZLT E—=L (3) RKRHFLT-
Piza o tabemashita. Soshite, biiru (mo) nomimashita.
(I) ate pizza. And, (I) also drank beer.

1T » 2 % 3 4 ¥t
ka mo ya to

The correct answer is #2-%, .

Although, these are two separate actions — eating and drinking - they are similar enough that we

can still use the ¥ particle for the second item to mean ‘too’ or ‘also’.

Other Answers

/) — The 7 particle is used to show options in Japanese, and can usually be translated as ‘or’. In
the question above, we are not talking about two possible options. Instead, we are talking about two
items we ate and drank, so this doesn’t fit.

E—Lh BIITE BRLEWTT,
Biiru ka osake o nomitai desu.
(I) want to drink beer or liquor.

X> — The X° particle is very similar to the 7" particle in that it shows options, but it’s not inclusive.
It is merely listing possible options, not all of them. We are not talking about options in the
question above so this can not be a correct answer.

E—LX  BIFRY KEEWTT,
Biiru ya osake nado nomitai desu.
(I) want to drink beer, liquor or something like that.

¥ — The ¥ particle is used to link two nouns together in the same sentence. The linked nouns can
occur anywhere nouns normally appear in a sentence as the subject, as an object etc. We can’t use it
in the answer above because there are two sentences that contain two different actions. Also, if you

use ¥ , both nouns usually have the particle after them, and the first one in the first sentence does

not. Here’s an example.

LI 2wk BAREE #=LIT
Watashi wa Eigo to Nihongo o hanashimasu.
I speak English and Japanese.

(2] 4RBIE BEIAGIE) pUELE,
Kyo wa Tanaka-san (ni mo) aimashita.
Today (1) met Mr. Tanaka, too.

1 12% 2 &% 3 T 4 %

ni mo 0 mo de o
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The correct answer is #1-Ic$, .

The verb %7 (au, to meet) is usually used with the (T particle. I try to think of it like you are going
to meet someone. You are moving toward them, so you need the |Z particle. &7 cannot be used
with T or %, so those answers are invalid.

Other Answers

% - The % particle is used to mark the object of the sentence. It might seem like you can use the
% particle with &7 , but %7 only uses the |Z particle. You also can’t normally combine the #
and ¥ particles.

C — The T particle can mark the way or tool you use to do an action. That is not relevant here, you
can’t use poor Mr. Tanaka to do something.

3] YAZIE 32 HYFF, "FF(B) 30 HUIT,

Ringo wa mittsu arimasu. Banana (mo) mittsu arimasu.
There are 3 apples. There are 3 bananas, too.

1T % 2 N 3k 4 %
mo ga to o

The correct answer is #1- &, .

Even though we are talking about two different items — apples and bananas — the quantity of them

is the same so we can still use the ¥ particle to mean ‘also’ or ‘too’.

Other Answers

AY — The 7' particle is often used for sentences that involve existence like this one. However, it is
not the most natural answer here.

¥ —The Y particle is used to link two nouns together in the same sentence. The linked nouns can
occur anywhere nouns normally appear in a sentence as the subject, as an object etc. We can’t use it
in the answer above because there are two sentences that contain two different actions. Also, if you
use ¥ , both nouns usually have the ¥ particle after them, and the first one in the first sentence
does not. Here’s an example.

LI ZnwIlk BAREE ELIT
Watashi wa Eigo to Nihongo o hanashimasu.
I speak English and Japanese.

% - The % particle is used to mark the object of the sentence. You can’t use the % particle with %
% (aru, to exist). The particles X, %%, or ¥ are often used with #% (to exist for inanimate objects)
and \ % (to exist for animate objects).
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XA TIRAIE X AP 1 (&) RNIT.

Bangohan wa yoku sakana ya niku (o) tabemasu.
As for dinner, (I) usually eat fish, meat or something like that.

1 & 2 P 3 % 4 ¥
ya mo to

The correct answer is #1- % .

| |

When using the X> particle to list possible items, typically the last item in the list does not use the
X> particle, instead you must use the particle that is normally used to mark that noun’s role. For
example, if the items are objects, you use the % particle.

Other Answers

X> — The X° particle is not usually used for the last item listed. In more casual situations, it is okay
to use 7L ¥ for the last item listed.

E—LX  BIFRY KEEWTT,
Biiru ya osake nado nomitai desu.
(I) want to drink beer, liquor or something like that.

¥ - The ¥ particle is used to mean ‘too’ or ‘also’. When you use the ¥ particle you are adding to
something previously stated or implied, either in the same sentence or a previous sentence. That is

not the case here, so we can’t use the ¥ particle.
Ll I TXTT,

Watashi wa neko ga suki desu.
I like cats.

®EH AN TETH,
Imoto mo neko ga suki desu.
My younger sister also likes cats.

¥ —The Y particle is used to link two nouns together in the same sentence. The linked nouns can
occur anywhere nouns normally appear in a sentence as the subject, as an object etc. We can’t use

it in the answer above because if you use ¥ for the second item, the items that come before usually
have a ¥ particle after them as well, and the first one in the sentence does not. Here’s an example.

brLIX Z2nwIl¥ BAREE HLIT

Watashi wa Eigo to Nihongo o hanashimasu.
I speak English and Japanese.

(5] »ITEAIIE XwIw) (1) KREEVTT,
Asagohan ni wa gyunya (ga) nomitai desu.
(I) want to drink milk for breakfast.

1T 2 % 3k 4 Ic
ga mo to ni
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The correct answer is #1- 5.

When talking about something we want to do, we can use the 7' particle instead of the % particle
to mark the object. We can also use the % particle in the sentence above, but not with {ZL\» or X%,

O HITWAIX Fw)iInwdiz WEEZWTT,
Asagohan wa gyunyu o nomitai desu.
(D) want to drink milk for breakfast.

O HXTWIAE ZEwHitwiInt 1ILVWTT,
Asagohan wa gyunyu ga hoshii desu.
(I) want milk for breakfast.

X HITIEFAX TwHilwiz 1ILWTT,
Asagohan wa gyunyi o hoshii desu.
(I) want milk for breakfast.

Other Answers

¥ - The ¥ particle is used to mean ‘too’ or ‘also’. When you use the ¥ particle you are adding to
something previously stated or implied, either in the same sentence or a previous sentence. That is

not the case here, so we can’t use the ¥ particle.
LI I FTETTY,

Watashi wa neko ga suki desu.
I like cats.

%t RIN FETT,
Imoto mo neko ga suki desu.
My younger sister also likes cats.

¥ —The Y particle is used to link two nouns together in the same sentence. The linked nouns can
occur anywhere nouns normally appear in a sentence in the subject, as an object etc. We can't use it
in the answer above because there aren’t two items. Here’s an example.

HrLIE ZnwIlr BAREE ELIT
Watashi wa Eigo to Nihongo o hanashimasu.
I speak English and Japanese.

|2 = The |Z particle can be used to mark the time or frequency something happens, the location of
something, or a location being traveled to. That is not the case in this sentence though.

6] #B, BRED K (%) HHIT
Mai-nichi, Nihongo no hon (o) yomimasu.
Every day, (1) read a Japanese book.

1 % 2 ¥ 3 Xk 4 %
mo ya to o
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The correct answer is #4- % .

The % particle marks the object of a sentence. In the question above, the object is the book, so we
need to mark it with % .

Other Answers

% - The ¥ particle is used to mean ‘too’ or ‘also’. When you use the ¥ particle you are adding to
something previously stated or implied, either in the same sentence or a previous sentence. That is

not the case here, so we can’t use the ¥ particle.
HrLIE KNI $TEITTY

Watashi wa neko ga suki desu.
I like cats.

we AN FTETT,
Imoto mo neko ga suki desu.
My younger sister also likes cats.

X> — The X° particle is used to list possible options inexhaustibly, meaning there might be more
options that are not listed. There is only one item in the sentence, so we are not listing possible
options.

E—LX BIIRY #RAEEWTT,

Biiru ya osake nado nomitai desu.
(I) want to drink beer, liquor or something like that.

¥ —The Y particle is used to link two nouns together in the same sentence. The linked nouns can
occur anywhere nouns normally appear in a sentence as the subject, as an object etc. We can’t use it
in the answer above because there aren’t two items. Here’s an example.

LI 2wl BHAEE #ELIT
Watashi wa Eigo to Nihongo o hanashimasu.
I speak English and Japanese.

VxIHT AFEP R T3xlr
Ryoko de Nagoya ya Tokyo ni ikimashita.
(I) went on a trip to Nagoya and Tokyo as well as some other places.

1 1c 2 K 3 P 4 %
ni to ya mo

The correct answer is #1- (< .

You can use the X° particle to list nouns anywhere nouns go in a sentence. The last noun listed
then uses the particle that is normally used to mark the role of the nouns listed. For example, if you

are listing objects, you would use the % particle. If you were listing locations being traveled to, you
would use the [T particle like in this sentence.
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Other Answers

¥ —The ¥ particle is used to link two nouns together in the same sentence. The linked nouns can
occur anywhere that nouns normally appear in a sentence as the subject, as an object etc. We can’t

use it in the answer above because the first item in the list doesn’t have a ¥ particle. You can’t mix
and match X>, /", and ¥ . Here’s an example.

HrLIE 2wl BAREE ELIT
Watashi wa Eigo to Nihongo o hanashimasu.
I speak English and Japanese.

X> — When listing items with the X> particle, the last item listed is usually not marked with the x>
particle. Instead, there is another particle that marks the list of nouns’ role in the sentence.

% - The ¥ particle is used to mean ‘too’ or ‘also’. When you use the ¥ particle you are adding to
something previously stated or implied, either in the same sentence or a previous sentence. That is

not the case here, so we can’t use the ¥ particle.

bH-LIT I FTEXTH,
Watashi wa neko ga suki desu.
I like cats.

%t RIN FETT,
Imoto mo neko ga suki desu.
My younger sister also likes cats.

W [@mAXAIE &ETTD, )
Tanaka “Nishimura-san wa sensei desu ka. ”
Mr. Tanaka “Is Ms. Nishimura a teacher?”

LElTong, ZLTERIA (B) X&ETIE HYFHA]

Yamada “lie. Soshite Nakamura-san (mo) sensei ja arimasen.”
Ms. Yamada “No. And, Ms. Nakamura is not a teacher either.”

1T % 2 ¥ 3 P 4 %
mo to ya o

The correct answer is #1- &, .

You can use the ¥ particle to mean ‘too’ or ‘also’. You can use it to add to what is already stated. In
this situation, we already said that Ms. Nishimura is not a teacher, and we want to add to our list of

people that aren’t teachers, so we can use the ¥ particle.

Other Answers

¥ —The ¥ particle is used to link two nouns together in the same sentence. The linked nouns can
occur anywhere that nouns normally appear in a sentence in the subject, as an object etc. We can’t
use it in the answer above because the two nouns are in different sentences. Here’s an example.

LI 2wl BHAEEE @EmLIT
Watashi wa Eigo to Nihongo o hanashimasu.
I speak English and Japanese.
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X> — The X° particle is used to list possible options inexhaustibly, meaning there might be more
options that are not listed. In this situation though we want to add to the previous statement, not
list a series of options.

E—L¥ BIFRY KEEWTT,
Biiru ya osake nado nomitai desu.
(I) want to drink beer, liquor or something like that.

% — The % particle marks the object of the sentence, but when we use % (aru) or \\5 (iru) to
talk about the existence of something, we typically use {3 or 7' to mark the noun that exists.

(9] brLiE (oLEY ZH—F () 1ELVTT,
Watashi wa kutsushita ya skato (ga) hoshii desu.
(I) want socks, a skirt, or something like that.

1 » 2 % 3 % 4
ga o mo ya

The correct answer is #1-5.

When using certain adjectives like [Z L\ (hoshii, wanted) or 9 X (suki, liked) we usually use the »*
particle to mark what is wanted or liked. We can also use it with verbs modified with the auxiliary

verb ~7z\\, but we don’t need to. Both of the following sentences are correct.
E—=LpY BRBTZWTT,

Biiru ga nomitai desu.
(I) want to drink beer.

t:\"_}l/% ﬁk%‘f:k\—cj—o
Biiru o nomitai desu.
(I) want to drink beer.

Other Answers

% - The % particle marks the object of the sentence, but when we use [ZL\» or X to talk about
what we want, we must use the 7' particle to mark the noun we want.

¥ - The ¥ particle is used to mean ‘too’ or ‘also’. When you use the ¥ particle you are adding to

something previously stated or implied, either in the same sentence or a previous sentence. That is

not the case here, so we can’t use the ¥ particle.

=L IH FTXTH,
Watashi wa neko ga suki desu.
I like cats.

®E I TETE
Imoto mo neko ga suki desu.
My younger sister also likes cats.

X> — When listing items with the X> particle, the last item listed is usually not marked with the X>
particle. Instead, there is another particle that marks the list of nouns’ role in the sentence.
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HLIE Wz () vwh () TXT,

Watashi wa neko (mo) inu (mo) suki desu.
(D) like cats and dogs, too.

1 /% 2 /0 3 v/t 4 /¥

mo/mo mo/ga to/to ga/to

The correct answer is #1-& /& .

When using the ¥ particle in this situation both items listed need to be marked with ¥ . Note
that if you used the ¥ particle here, the second item, L ¥ , would have to be marked with the 7}
particle. This is a little quirk of the % particle that you will have to keep in mind for the test.

Other Answers

% / »' — When using the ¥ particle, you must use ¥ for both nouns. You can't use »* for the
second one.

¥ /¥ and 7'/ ¥ - If you are going to use the ¥ particle in this sentence, the second item listed
will need the 7' particle.
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